%uo\{av'\& Dablem  Scb 5 y1pdws
; edae ol
SORAG, \@owl

OY%[23( 202

D St

]Dvwr&(
D(m"(’ wWanhad — olue LE@\{ D(o’bJem)

)

2 K9
) g o 30
) = £ (314) (lz-fs’»clo"l)j’m? "
umf faw sn@  fou & ﬁ@ oF ok
()
3 = Jaa 09 Ly v
’ s =
R .
" 3 ?:%(W\MM) D ’“fﬂ ] GZ!;W)}/
\ |'U(\J?b:®0_cﬁf\/
bt W= mwo%ms) G TN T,
B = -022M
Pz WH -
W
= = 0.0 8N

- pra= (paris)(loon) (9919) . P
(0) G2 MY=rTgs (00” O (oj@c_/—w—l

) N E ]Pa @ =
L)ﬁhﬂ — Miee />'v;[« ﬁf() Jjﬁ;,() | e ii

i s —gals =15l
ﬁlw f“ “’L—/—{fw- ﬁrlzo e a9

Scanned with CamScanner



L@ < b =THE—= A= O

ThB=F9V
= -8 = 9 1005-528
TT :QO?S)(%”) (04) T=W-R :t‘gﬁ

l =1 0655 =

w=(20(9-3)=177.2N

5) | 3
) Mok it 39—

poo Do
bk =~ Vﬁ?!aCK
__[_l__s_’__j-—?——-——/ = 2g6m3
(1) (10( 3f)cm
W9 __,_, - 0. 0)77
szO:qu’i IOK{') [plem ar

o
b) b = jgv %%’L ngg) 1?,)00 BS)(O)

W e
1 T = (115306 [(9)518)) —Y519 =lp. 812N
W

Scanned with CamScanner



